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Instructions for Candidates

1. Write your Roll No. on the top immediately on recelpt
of thls question paper.

)

All questions are compulsory.

(O3]

Answers should be brief and all parts of a question
be answered together.

Answers may be written elther in Enghsh or Hlndl

but the same medium should be used throughout the
paper.
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1. (a) State True/False with feasohs: A @)

(1) A digital computer is faster than an analog
computer.

(1) A proxy server is an inte'rmediary between
the client computer and ’the Website

(iii) Collaborations help in reducing error rates
~and wastages. |

(iv) A derived attribute is dlrectly stored in the
table ‘ :

~

(b) Fill in the followmg blanks with appropnate
Words ; . , 3)
() A acts ‘as.l\)oth a server as well as

a client.
(i) —_ is a numerical label assigned t0 _
the devices part1c1pat1ng in a comPUter

- network.

tion

(i) _______ refers to the use of lnformiess
i
technology in conducting b s

transactions.
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What do vou mean by wireless networking? What 31

the problems with wireless nerworks. (6)
Or

What are the different functional units of = computer.

What tools are used for busimess colizboration for
modern day business units. (&)

Or

What are the basic services provided by the intermet
10 IS users.

What are the advantages snd dissdventages of =
datsbase svstem. o)
e

-

Or

Explain any three types of kevs usad in RDBMS with
examples.
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